
9 0 Use a range of additive … strategies with ...decimals …C H A P T E R  4  :  A D D I N G  A N D 
S U B T R A C T I N G  D E C I M A L S

Decimals can be shown using decimats, place value blocks or decipipes.

Examples  
    1.4 can be  

shown as 

Decimals can be added using place value partitioning.

Examples

Example 1 1.7 + 2.5 = ?

Adding decimals using place value

Discussion

• How many tenths make a whole?whole?

Example 2 5.6 + 7.8 = ?

    5.6 + 7.8 = 5 ones + 6 tenths + 7 ones + 8 tenths
       = 5 ones + 7 ones + 6 tenths + 8 tenths
       = 12 ones + 14 tenths
       = 12 ones + 1 one + 4 tenths
       = 13 ones + 4 tenths
      = 13.4

+

1 one + 7 tenths + 2 ones + 5 tenths

or or

1 one + 4 tenths
(1 4

10
)

1 one + 4 tenths
(1 4

10
)

1 one + 4 tenths

(1 4
10

)

3 ones + 12 tenths

+= =

1.7 + 2.5 = 1 one + 2 ones + 7 tenths + 5 tenths
  = 3 ones + 12 tenths
  = 3 ones + 1 one + 2 tenths
  = 4 ones + 2 tenths
  = 4.2

oror

1.7 4.03.7 4.2

+0.3

+2

+0.2

+0.5

1 .7 + 2.5 = 1 .7 + 2 + 0.5
  = 3.7 + 0.5
  = 4.2

5 tenths

Add the ones and tenths separately.

4 ones 2 tenths

( 7
10

 + 5
10

)

=



1 4 8 C H A P T E R  8  :  F R A C T I O N S NA2-1: Use simple additive strategies with … fractions.
NA2-6: Communicate and interpret simple additive strategies, using words, diagrams (pictures) and symbols. 

NA2-7: Generalise that whole numbers can be partitioned in many ways. 

Fractions of sets

Granny Crinkle has 12 cats.
A third of them are ginger, a third grey and a third black.
How many of each colour are there?

Answer There are the same number of each colour.

Example

Discussion
• How do you know 

that there will be 
the same number 
of each colour?

4 + 4 + 4 = 12   or   3 × 4 = 12
1
3 of 12 = 4 cats of each colour

Animal treats

  1 Granny gave some treats to her animals.
   Work out how many treats each animal got.
   Write down any addition facts you used to help.
   Write a fraction equation to record your answer. 

Practical

• cubes or 
counters

This is a  
fraction equation.

Granny gave 1
2 the  

dog treats to each  
of her dogs.

a

22 ieces s 2 s s
o heeseeo seeee Granny gave 1

5 of 
the cheese to each 
of her rats.

d

Granny gave 1
4  of the dandelion 

leaves to each of her rabbits.

ee
esess

Granny gave 1
4  of the scraps 

to each of her pigs.

c 12 buckets

Granny gave 
1
3 of her 

seed packets to each 
of her birds.

b

9 packets



1 3 3E X P R E S S I O N S ,  F O R M U L A E  A N D  E Q U AT I O N S

An equation has an equals sign.  
The equals sign tells us that the value of the left hand side of the equation equals  
the value of the right-hand side. 

Equations

Practical

1 

              
  

  
Write ten more equations to describe two  
sets of rods that are the same size.  
Show using the number value of each rod that each of your equations is true.

2 a              
            Explain why Jess thinks this is correct.

              Is there another equation she could write?

b

3

Write each of the equations you wrote in question 1 in at least one other way.
Explain to your partner using the Cuisenaire rods why they are true.

cuisenaire 
rods

Both sides of the 
equals sign have 
the same value.

number of units

1 w (white) 

2 r (red)

3 l (lime green)

4 p (purple)

5 y (yellow)

6 d (dark green)

7 bk (black)

8 t (brown)

9 bl (blue)

10 o (orange) 

a

For this one I could write
l = 2p + w - d  or  
d + l - w = 2p

You could also write 
r + 9 = 11 or  
2 + bl = 11

I can see that dark green and lime green 
are equal to purple + white + purple.

I can write d + l = p + w + p
                    = 2p + w

I know this is true because  
6 + 3 = 2 × 4 + 1 

 9 = 9

I can write another 
equation for this.

y - w = p

What other equations 
could Max write?

I can write an equation for this as 
r + bl = 11

I can see that a yellow rod (y) is equal  
to a purple (p) plus a white(w).

I can write y = p + w
I know this is true because 5 = 4 + 1.



1 3 4 E X P R E S S I O N S ,  F O R M U L A E  A N D  E Q U AT I O N S Form and solve simple linear equations.

1 Write equations for each set of strips.
Work out the value of the unknown number.

a y 8

36   

  b f 8

17

c m m

24
   

d x x x x

32

e p p p 5

23

    f b   b   b 4

28

g g g g g g 14

39

   h h h h h h h 26

56

i             j 1
2 d
12

Write an equation for this diagram.
Find the value of x.

The equation for this diagram is 3x + 2 = 17.

  To find what 3x equals, subtract 2  
from both strips first.

  3x = 15

   To find what x equals, work out how 15 can be shared equally by 3 lots of x.

15 ÷ 3 = 5

        x = 5

Example

m. 
Think about how you did this.

why you did them in this order.

Discussion

Activity 3

17

x x x 2

15

x x x

Both 'm's stand 
for the same 

number.

20

m m 4

c 16

34


